N =

2000 = =0l & 2 BHa A

SN IREAD
H: OIS N D (Y BBYY /L)

=
ot DIR AU A

Of &

A E E Al

A

SN (B) - MBEAY - B2 0f Ao Soe HRZ2
Ol 2 S At 2,102,908 2,128,916 A 26,008
= 119,997
g 300,000
= 208,270
iy 1,474,641
Dl AR (LEts BN /D) 75,455 29,238 46,217
= 12,497
iy 62,958
Ol 2 AMH| A SFA 75,455 29,238 46,217
= 12,497
iy 62,958
DIRAAIANR LB AH 250 230 20
301 LE8BAZ 250 230 20
12 JIEIE A2 250 230 20
O#FAMDRE QB4 H 250
—SuA 5,000& *10H 50
—2 A 7,000& *10H 70
- 10,000& x5H 50
—EtAIE A 20,000& x4H 80
o3 SEHEHPIN 29 2,400 4,500 A 2,100
201 B2 2,400 4,500 A2,100
01 ArR2t2|tl 2,400 4,500 A2,100
OWAHALSEHEHH2H 200,000& x12& 2,400
SE0IRot =201 8¢9 7,365 0 7,365
101 Q14 d| 7,365 0 7,365
10 JIZHZ2=XNEES 7,365 0 7,365
OZeoloHl =20 29 7,365
—JIE2= 34,0903 x180 6,137
—F=X=g 34,0903 x36! 1,228
DIKSHAMNMYE 2del JHIA (22X, S4) 6,000 0 6,000
201 LBtEAH| 6,000 0 6,000
02 3294l 6,000 0 6,000
OO0l 22|0/AIAE SMSAIE 2
500,000& x12& 6,000

_1_




SA
X XH .
(=

chel:

012 = AL T}
DI X Do) (LB B DY /Ut
|.

01 2l AfH| A BEAL

02

)

_ _ _ Muo
2N -3 - c2(3H) - NEME - HES Ol & @ﬁw HunsZ
IIEBHSEMSX 12,497 0 12,497

2 12,497
101 eIt 9,000 0 9,000
2 9,000
10 JIZHM22NSE~ 9,000 0 9,000
0o AH| 9,000
== 34,0002 +372 x6S & 7,568
2 7,568
—E=xag 34,0009 +7 2L +6.S 1,432
2 1,432
201 LEr2%| 497 0 497
2 497
01 At=2Z2l| 497 0 497
OAt2 el 82,830 *6S B 497
2 497
202 OfH 3,000 0 3,000
=2 3,000
01 =Ujoidl 3,000 0 3,000
O=2U 0l 500,0002 *6S & 3,000
2 3,000
Fois=ae 11,240 0 11,240
201 st A 4,800 0 4,800
01 At=Zeldl 4,800 0 4,800
OFQS=Es w23t 80,0002 *6S &4 4,800
405 XHaHE S| 6,440 0 6,440
01 KMUSEFSH 6,440 0 6,440
OFps=s 28| 920,000 +72 . S ™ 6,440
o2y J|=2AYl 35,703 24,508 11,195
201 YBr2AY| 15,660 17,358 1,698
01 At=2Z2l 15,660 16,720 1,060
OUY DIAMHIAR 27
1,000,000 * 122 12,000
OE-ELES E T ES= 70,0008! *6 2 *33] 1,260
ODAARANREE 200,0002! * 122 2,400




A YRS AL

Ho: IR (YBNBTYT/LBH)
CHol: QIR MHIABHA (S5 &)
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
202 o1t 5,043 7,150 ~2,107
01 =Uotb 5,043 7,150 £2,107
Z 0401 5,043,0002! 5,043
405 TrarFE S 15,000 0 15,000
01 MMUSEBFHSY] 15,000 0 15,000
O=AIIRY 15,000, 0002414 15,000
NE2 (ZELXANL/NSLTAI) 49,837 53,319 £3,482
= 6,670
2 43,167
NERIEIEE 49,837 53,319 A3,482
= 6,670
2 43,167
K= olg el 36,497 48,074 A11,577
101 oIty 7,365 1,048 £3,683
10 JAHNZENSES 7,365 11,048 3,683
OXFoEHE MRRE 7,365
-l =2 34,0002 +12§ » 1802 6,137
—E=xag 34,0002 +12§+362 1,228
201 Ysr2gyl 24,132 31,526 A7,394
01 AR &cldl 22,152 24,626 A2,474
OXFoBHE MREE 2 6,500
~NHZRoEH MRBE P
500,0002! * 102 5,000
~EXNEAHY SIS ANSEE 7Y
50,0002 102 1,500
OXFoIHe K02 HE 900
—NHSED AS RS RH
1002 *500% +33] 150
~N=Fel ZBSE RolE M
25021%3,00021 750
OXEFEMAY 22K 425,00021 +62 2,550
OxNE=IIEE el 12,202
~NHSYIES e oL 2=y
974, 6002 *9% 8,772
~NHMASTE W22
120,0002 133 1,560




D QIS AL

R Uy <)

D REBRA(FELT SN/ NAL A

BN SR el B op=:! |
_ _ _ AT
SH-EFHHA(FA) - NIRAE - BES algel lOﬁ/l\_Fo” Hws2
—ANEC2E M2l 85,000& x22& 1,870
02 =322l 1,980 6,900 24,920
OXNFoAXY| 2 S2 1,980
—NEES2AY A/S SLEAAM
220! ¥500% *33] 330
—EXNEANHE SIEE ZUSE
25021 %30021 * 122 900
—XN&8HeZW g 2502 *3,0002A 750
202 OiHl 5,000 5,500 A500
01 =Wodl 5,000 5,500 A500
OZHNHI 5,000,000 5,000
AtE &2 XNEIIEE 4 AtY 13,340 0 13,340
& 6,670
= 6,670
201 B2 13,340 0 13,340
< 6,670
2 6,670
01 At=2teldl 13,340 0 13,340
OXANSHAXNHINZEE L XA
13,340,000& 13,340
= 6,670
= 6,670
SSUA(ZELXSEIHL /X HL Al 406,326 255,964 150,362
= 107,500
& 73,850
= 224,976
ST 85,326 92,631 AT,305
IHE S AIXIJFE A 81,826 89, 131 AT,305
101 eIl 7,365 7,365 0
10 JI2ZHZ2E2NSES 7,365 7,365 0
OMLEBAXI EXNEH T A 7,365
== 34,0903 180 «1H 6,137
— XY 34,0903 36 «1H 1,228
201 eI 69,461 76,266 26,805
01 At=2teldl 52,337 58,688 A6,351




SN IREAD
HE: SEMUR(ZEUXANL/XALETA)
ool HSAHE (5 &2
5 o SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
OXIDIEA HAAAT 7 2,950
—XIDFEAMCH AL E X & 50,0002 * 104 Xt 500
~ENSHFMELRHEA
50,0002 * 104 Xt 500
— XIJhZE BRI Ch 3,000 *100% 300
—Totg s 50,0002 ¥544 Xt 250
o BIEET 70,0002 *204¢ Xt 1,400
OXJIEA E28 B49 M
60, 00024 +70} 420
OXDleI@Me ZRIH ARE 7 4,700
~HOIMIRIE EHCH
400, 00021 *2CH 43| 3,200
—YINTRE Y3 Y &F
250, 000! *2CH *33] 1,500
OMFNINS HE 442 N2 39,297
—MET BB
38,0002 (45, 1082 X|/60.35)+1. 1 31,243
—AHE ABL4E
38, 00021 422 K| #50%+1. 1 878
—0INE AEH42
38,0002 * 128 X/ #50%+1 . 1 2,676
—HLUIBUSN 2E442
1,500,000% x321 4,500
OfIRsl Ea+Y 4,970
—EXNIIISA BaLY
70,0002 11 %53 3,850
—MEASIHE B
70,0002 +8% *23] 1,120
02 ZZ=2YY 17, 124 17,578 ~454
ONESXE NIRVENS LTEL U2
2902 %22, 5700 6,546
OXIJtAH AlEFHl X8
176,290, 00021 #12%+1/2 10,578
202 Ofl 5,000 5,500 A500
01 =0l 5,000 5,500 2500
04 bl 5,000,0002! 5,000
EXNBHENESY 3,500 3,500 0
01 YurBAZ 3,500 3,500 0
12 JIE2N3 3,500 3,500 0




SN OIRZAD
My 2sawel

ol REMSE (el @
SA-EH O (BH) - HBAY - B2 Ofl A o4 ggi HRS2
OKAg AN BAa=3 3,500
—E2SAEINY SYHMESSAN D
500,000& *x2AH 1,000
—EX A |galD 500, 000& x521 2,500
MFEAMESH 321,000 163,333 157,667
= 107,500
= 73,850
o 139,650
EEHUAHASHS 20 22 321,000 163,333 157,667
= 107,500
= 73,850
iy 139,650
201 2ErEIH| 321,000 163,333 157,667
= 107,500
== 73,850
iy 139,650
01 AtR222ldl 321,000 163,333 157,667
O&zd 2 HSHS FOUHAL 321,000
—SC 28 FAAS 14,2844 %17 ,082& 244,000
= 69,000
== 62,300
o 112,700
—CRUFANGIAIY
4,508J01%17,080.74& 77,000
= 38,500
& 11,550
= 26,950
HEA(2EL X EMNLY /XIS L Al 1,556,890 1,790,395 A 233,505
rag 300,000
== 127,750
iy 1,129, 140
FHEHEIMNEALE 820,640 1,055,395 N234,755
g 300,000
= 84,000
iy 436,640
TA F=AHEEIME A 600,000 1,000,000 400,000




A YRS AL
2

|
Mo AV (FELNANL/NALEAI)
CHol: 201 820 1 ALY (chol: ®2)
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 BlusZ
SA FHESZHAAY 2 300,000
2 300,000
401 A&HIZS Y 600,000 1,000,000 400,000
= 300,000
2 300,000
01 Al&H] 595,680 993,700 398,020
O SAIZENSZMLAY  5095,680,0008 +14] 595,680
= 300,000
2 295,680
03 Al&=CHHI 4,320 6,300 A1,980
O SAFHSZMAAY
600,000, 0008 +0.72/100 4,320
S0l& FANSLMAAL 210,000 45,000 165,000
< 84,000
2 126,000
301 YerEa3 210,000 45,000 165,000
= 84,000
2 126,000
12 JIERa3 210,000 45,000 165,000
Os=BIEZH AL 1,000, 0002 «2105 210,000
= 84,000
2 126,000
A=0le 29 J1=2F| 10,640 10,395 245
201 YprE gyl 5,640 6,275 1635
01 A= 22lH] 5,640 6,275 1635
OAZ0IY AREE 2 365,000% 122 4,380
O3 249 70,0002 *92 523 1,260
202 o1t 5,000 4,120 830
01 =LHoTdl 5,000 4,120 830
SE-LE] 5,000,0008 5,000
3 22l 648,750 522,500 126,250
OHE 32 FUIAY 648,750 522,500 126,250
401 A&HIZSHY 32,500 0 32,500
01 Al&] 32,500 0 32,500




SA
X XH .
(=

chel:

M- EB - e(E) - HRAY - Ba2 shoy e 2
OO0I=HX H2SE=+ 650, 0003 505 32,500
402 QI2EE0lM 616,250 522,500 93,750
01 QX=X 616,250 522,500 93,750
ontsa& &= 70,000,000& 35 210,000
Olts3& 22dd 8,125,000& «50= 406,250
SolE NH™HFI| el 87,500 62,500 25,000
= 43,750
= 43,750
Z2oE D™HFIIAS 87,500 62,500 25,000
= 43,750
= 43,750
307 QI2t0IA 87,500 0 87,500
S 43,750
= 43,750
05 QItRIE= 87,500 0 87,500
OMESIE D™HFIIAMG 2,500,000& *35= 87,500
= 43,750
s 43,750
HY2IZH (LS AL (IIEHDIE}) 14,400 0 14,400
ZHl 14,400 0 14,400
AN Jl=Zdl 14,400 0 14,400
201 LEH2 Y| 7,200 0 7,200
01 Atf2teld 7,200 0 7,200
OJl2gse =& 7,200,000& 7,200
202 Oddl 7,200 0 7,200
01 =LHAHUI 7,200 0 7,200
OJl2gs =4 7,200,000& 7,200




